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Which of these is not a lake in North America?

What is the chemical formula of washing soda?

Which award did Mrinalini Sarabhai receive in 19927

Who has been appointed the Secretary of President Draupadi Murmu?
In which year was Lord Macaulay's education policy introduced?

Who received the Noble Prize in Chemistry in the year 1951?
Question related to dance form in Mizoram

Question related to the 5-Year Plan

Question related to hockey

. Questions from Spelling error detection - 'Assessment’

. Questions on Synonyms

. Questions from Cloze test

. Questions on Active and passive voice

. If the ratio of income tax increases by 18%, net income decreases by 2%. What was the

rate of income tax?

If R and r are respectively the circumradius and in-radius of a triangle having sides
40cm, 41cm, and 9cm, then find the value of 2(R +r).

If the profit generated on selling one product produced by A is Rs. 4.5, then find the total
profit earned on selling all the products of A in all year together.

Two varieties of sugar are mixed in the ratio 3:2 and sold for Rs. 80 per Kg to make a
profit of 25%. If the cost of the variety of sugar whose quantity is more is Rs. 40 per Kg,
what is the cost of the other variety of sugar?

Questions from Trigonometry

Questions on Number system

Questions on Coding-decoding

Questions from Analogy

Questions based on Paper cutting
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23. Questions based on Blood relations




